
	ITEM NO.: 9402 - SUNDAY (S1)
	ASSEMBLY INSTRUCTIONS

	

	
Carefully unpack all parts before attempting to assemble.


	
	1. Fix the feet (B) into place on the base of the chair, using screws (C). Make sure the feet are facing the right way (see detailed picture, check you have the 45 degree angle). Tighten all screws well.
2. Assembly finished.


	
	PARTS LIST

	
	A - Body
	1

	
	B - Wooden feet
	4

	
	C - Screw (M5*30mm)
	16



	ITEM NO.: 9402 - SUNDAY (S2) 
	ASSEMBLY INSTRUCTIONS

	

	
Carefully unpack all parts before attempting to assemble.


	
	1. Fix the feet (B) into place on the base of the sofa, using screws (C). Make sure the feet are facing the right way (see detailed picture, check you have the 45 degree angle). Tighten all screws well.
2. Assembly finished.


	
	PARTS LIST

	
	A - Sofa
	1

	
	B - Wooden feet
	4

	
	C – Screw (M5*30mm)
	16





	ITEM NO.: 9402 - SUNDAY (S3)
	ASSEMBLY INSTRUCTIONS

	

	
Carefully unpack all parts before attempting to assemble.


	
	1. Fix the feet (B) into place on the base of the sofa, using screws (C). Make sure the feet are facing the right way (see detailed picture, check you have the 45 degree angle). Tighten all screws well.
2. Fix the middle foot (D) into place on the base of the sofa. This does not require screws  and the height can be adjusted if needed.
3. Assembly finished.


	
	PARTS LIST

	
	A - Sofa 
	1

	
	B - Wooden feet
	4

	
	C – Screw (M5*30mm)
	16

	
	D - Middle metal foot
	1



	ITEM NO.: 9402 - SUNDAY (SST)
	ASSEMBLY INSTRUCTIONS

	

	
Carefully unpack all parts before attempting to assemble.


	
	1. Fix the feet (B) into place on the base of the footstool, using screws (C). Make sure the feet are facing the right way (see detailed picture, check you have the 45 degree angle). Tighten all screws well.
2. Assembly finished.


	
	PARTS LIST

	
	A - Footstool
	1

	
	B - Wooden feet
	4

	
	C – Screws (M5*30mm)
	16


[bookmark: _GoBack]
oleObject1.bin

image2.wmf
A

B

C

45

¡ã

BOTTOM


oleObject2.bin

image3.wmf
A

B

C

D

45

¡ã

BOTTOM


oleObject3.bin

image4.wmf
B

C

A

45

¡ã

BOTTOM


oleObject4.bin

image1.wmf
A

B

C

45

¡ã

BOTTOM


